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VII. Cunhwinip guwhuwnwljuwip BN2 hU-nud unwugws Yppnipjut Jepupbpjug

Zung. Cunhwimp wndwdp hiswt u bp quwhunmu 602 bU-mud unugud 2kn Yppnrpeiniip:

quwh | £9 U 299 SaD o2
buU | ?4U | Thg. | 212 | ULS | L2 | LY | Muwnd. | Zngkp. | SUU | Qpnu. | dhu. | PU

2 0

3 6 1 4 1 2 2 | 16

4 | s 1 5 | 5 | 8 | 2 | 2 5 10 7 4 5 | 59

5 4 5 3 | 4 | 5 | 2 | 4 4 1 3 7 14 | 56
‘fll;f 39 | 48 | 44 | 43 | 41 | 45 | 47 | 43 41 | 41 | 46 | 46 | 4.3

4.6 46
4.6 - 4.2
4.4 - ELAD
3.9
42 - B YUD
4.0 - " 23D
38 7 RS
3.6
3.4 .
Cuphwtimp wodwdp hisyb u bp giuhwnnd 602
PU-nud uinwugus 2bp Yppnipmiup

Cunhwinip wodundp hiywk v bp qiwhwnnid 602 bU-mu
unugud Ep Yppnipniip

H2;0 3; 12%

i 5;43%

15




Zupg. onphmpy Y p 2kp dkpdunfnpiikphi b phlykpukpht pigmin]y 602 bU:

PSY YUd 299 SaH (e V4

buU | M4U | %hq. | 212 | ULSY | BLY | LY | Mwwd. | Zngkp. | SUU | Qpnu. | dhu. | PU
wjn 14 6 8 10 13 4 6 9 11 18 10 21 130
ny 1 5 1 4 1 1 13
ugn | 93% | 100% | 100% | 100% | 72% | 100% | 100% 90% | 100% | 82% 91% | 95% | 91%

100% s
4 0,

100% . 88% 4% 91%

80% -~

60% - B wyn
40% -~ Eny

[ 0/
20% -~ 7% o 12% 6% 9%
o
00/0 T T T T T
(SN qUud PASN Sad BNz bU

Uwulnughunmlubl [ppnipjul npulh wyubnyinh pudhb
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